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Is Section Default? : null

Question Number : 1 Question Id : 54947026604 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most expected immediate outcome of teaching is

Options :

Changes in the behaviour of students in desirable direction
1. ¥

Development of total personality of students
2. %

Building characters of the students



Getting selected for a suitable job

Question Number : 2 Question Id : 54947026605 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good teaching is best reflected by
Options :

Attendance of students

1. ®
Number of distinctions
2. %
Meaningful questions asked by students
3.¢
Pin-drop silence in the class
4.%

Question Number : 3 Question Id : 54947026606 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Listening to a lecture is basically



Options :

Informational listening

1. ®

Evaluative listening
2. ¢

Emphatic listening
3. %

Dynamic Listening
4. %

Question Number : 4 Question Id : 54947026607 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a characteristic of a slow learner?
Options :

Limited vocabulary

Short span of attention



Abstract thinking
3.¢¥

Limited range of interests

Question Number : S Question Id : 54947026608 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dynamic approach to teaching means
Options :

Teaching should be forceful and effective

1. ®

Teachers should be energetic and dynamic
2. %

The topics of teaching should not be static, but dynamic
3. %

The students should be required to learn through activities
4. v



Question Number : 6 Question Id : 54947026609 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For an efficient and durable learning, learner should have

Options :

Ability to learn only

1. %
Requisite level of motivation only
2. %
Opportunities to learn only
3. %
Desired level of ability and motivation
4.9

Question Number : 7 Question Id : 54947026610 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

National Literacy Mission was established in

Options :

1996



1988

2.¢

1999
3. %

2000
4. %

Question Number : 8 Question Id : 54947026611 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Research can be conducted by a person who

Options :

Has studied research methodology

Holds a postgraduate degree
2. %

Possesses thinking and reasoning ability
3. ¢



Is a hard worker

Question Number : 9 Question Id : 54947026612 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following research specifically requires objectivity to discover facts

and causes from the data gathered for the purpose?

Options :

Quantitative research
1.

Fundamental research
2. %

Qualitative research
3. %

Action research

Question Number : 10 Question Id : 54947026613 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The classification of studies into exploratory. descriptive, analytical, or predictive
research is based on
Options :

Logic of the research

1. %

Outcome of the research
2. %

Process of the research
3 %

Purpose of the research
4.

Question Number : 11 Question Id : 54947026614 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of study will be preferred by a researcher to estimate the degree of

relationship between the level of education and achievement motivation?

Options :



Naturalistic

1. ®

Inventory
2. %

Correlational
3.¢

Experimental
4.%

Question Number : 12 Question Id : 54947026615 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good research ethics means
Options :

Not disclosing the holdings of shares or stocks in a company that sponsors your
research

Assigning a particular research problem to one PhD or research student only
2.¢



Discussing with your colleagues confidential data from a research paper that
you are reviewing for an academic journal

Submitting the same research manuscript for publishing in more than one
journal

Question Number : 13 Question Id : 54947026616 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A research paper
Options :

is a compilation of information on a topic

1. ®
contains original research as deemed by the author

2. %
contains peer-reviewed original research or the evaluation of research
conducted by others.

3.¢

can be published in more than one journal.



Question Number : 14 Question Id : 54947026617 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Manipulation is always a part of
Options :

Historical research

1, *
Fundamental research
2. %
Descriptive research
3. %
Experimental research
4.9
Is Section Default? : null

Question Id : 54947026618 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Ecosystems provide people with a variety of goods and services. food. clean water, clean
air, flood control. soil stabilization, pollination, climate regulation, spiritual fulfilment, and
aesthetic enjoyment, to name just a few. Most of these benefits are either irreplaceable or the
technology necessary to replace them is prohibitively expensive. For example. potable

freshwater can be provided by desalinating sea water, but only at great cost.

The rapidly expanding human population has greatly modified the earth’s ecosystem to
meet their increased requirements of some of the goods and services, particularly food.,
freshwater, timber, fibre. and fuel. These modifications have contributed substantially to human
well being and economic development. However. the benefits have not been equally distributed.
Some people have actually been harmed by these changes. Moreover, short-term increases in
some ecosystems’ goods and services have come at the cost of long-term degradation of others.
For example, efforts to increase the production of food and fibre have decreased the ability of

some ecosystems to provide clean water, regulate flooding. and support biodiversity.

Sub questions

Question Number : 15 Question Id : 54947026619 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Expanding human population has an adverse effect on
(A) Spiritual fulfilment
(B) Availability of potable freshwater
(C) Employment
(D) Biodiversity
Which of the statements given above are correct?

Options :

(A). (B). and (C)

1. ®

(B). (C). and (D)
2. %

(B) and (D)
3.9

All of the above
4, %

Question Number : 16 Question Id : 54947026620 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The passage mentions that ‘some people have actually been harmed by these
changes’. It indicates towards
Options :

Inequitable distribution of benefit

1. ®
Decrease in the ability of some ecosystems to provide clean water. regulate
flooding, and support biodiversity
2. %
Both (1) and (2)
3. ¢
Neither (1) nor (2)
4. %

Question Number : 17 Question Id : 54947026621 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is correct in the context of the passage?

Options :



The rapid expansion of population has adversely affected some people

1. v
Sufficient efforts have not been made to increase the production of food and
fibre

2. %
In short term, some people may be harmed. but in long term, everyone will
benefit from modifications in earth’s ecosystem

3. %

No answer

Question Number : 18 Question Id : 54947026622 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With reference to the passage. consider the following statements:
(A) It 1s imperative to modify the earth’s eco-system for the well-being of mankind
(B) Technology can never replace all the goods and services provided by ecosystems

Which of the statements given above is/are correct?

Options :



Only (A)

] ®
Only (B)
2. ¢
Both (A) and (B)
3. %
Neither (A) nor (B)
4, %

Question Number : 19 Question Id : 54947026623 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage. which of the following can be taken as the main reason for
modification of earth’s ecosystem?

Options :

Technology

Increasing population
2. ¢



Lack of an integrated approach

No answer

Question Number : 20 Question Id : 54947026624 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be considered as the most suitable title for the passage?

Options :
Modification of our ecosystem
1.¢
Our natural resources
2. %
Harmful effect of increase in human population
3. %
Human interference in our ecosystem
4.%

Question Number : 21 Question Id : 54947026625 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



With reference to the passage. consider the following statements:
(A) Technology driven ecosystems are alternate means of future needs

(B) Technology helps in improving ecosystems on short term basis but at the cost of

long term eco-degradation

Which of the statements given above is/are correct?

Options :
Only (A)
], %
Only (B)
2. %
Both (A) and (B)
3.9

Neither (A) nor (B)

Is Section Default? : null

Question Number : 22 Question Id : 54947026626 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The essential components of communication are

Options :

Source, message, interference, channel. receiver, feedback. and context
1.¢

Sign, source, destination, interaction, and correlation

2. %

Signs, symbols, understanding. communication, and communicant
3. %

Symbols, understanding. purpose. ideas. opinions, non-verbal, and reaction
4.%

Question Number : 23 Question Id : 54947026627 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another term used for interpersonal communication is
Options :

Group communication
1. %



Face-to-face public communication

2. %

Dyadic communication
3.¢

Traditional communication
4, ®

Question Number : 24 Question Id : 54947026628 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication in the class fails because
Options :

The students are inattentive

The teacher is monotonous in delivering the message
2.

The students have no interest in the lesson being taught



There is very much noise in and around the classroom

Question Number : 25 Question Id : 54947026629 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ability to understand, communicate with, motivate. and support other people.
both mdividually and in groups. define which of the following organizational skills?

Options :

Hard skills
1. %

Soft skills
2.9

Conceptual skills

Political skills

Question Number : 26 Question Id : 54947026630 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In India for broadcasting TV programmes which system is followed?

Options :

NTCS
1.

PAL
2.¢

NTSE
3. %

SECAM
4, ®

Question Number : 27 Question Id : 54947026631 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the process of communication, which one of the following is in the chronological
order?

Options :

Communication, medium, receiver, effect message



Medium. communicator. message. receiver, effect

2. %

Communicator, message. medium. receiver, effect
3.¢

Message. communicator. medium, receiver, effect
4.%

Question Number : 28 Question Id : 54947026632 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication between two or more people is called

Options :

Organizational communication
1. *

Interpersonal communication
2.¢

Extrapersonal communication



Intrapersonal communication

Question Number : 29 Question Id : 54947026633 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1.8, 27 64 125. 216, ...

Options :

256
1. %

343
2.

365
3. %

400
4, %

Question Number : 30 Question Id : 54947026634 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

ABD, CDF, ..., GHJ, IIL

Options :



EFH

1.¢

L
2. %

HIJ
3. %

HIK
4. %

Question Number : 31 Question Id : 54947026635 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “SELDOM” is coded as “1 24 3 6 5°, how will you code “MODE"?

Options :

3621
1. %

6238 1
2. %

5632

3.¢



[}
]
s
%)

Question Number : 32 Question Id : 54947026636 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

E is the son of A: D is the son of B. E is married to C. C is the daughter of B. How is
D related to E?

Options :
Brother
1. %
Uncle
2. %

Father-in-law

Brother-in-law
4.

Question Number : 33 Question Id : 54947026637 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Raman travels a distance of 5 ki in south direction. He turns to his right. After
walking 3 km, he turns to the left and walks 5 km. Now in which direction is he from
the starting place?

Options :
West
1. ®
South
2. %
South-west
3.¢

North-east

Question Number : 34 Question Id : 54947026638 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P.Q.R. S, and T are sitting in a straight line facing north. P sits next to S but not to T.
Q 1s sitting next to R. who sits on the extreme left corner. T does not sit next to Q.
Who sits to the left of S?

Options :



1.¢

Q
2. %

H
3. %

S
4. %

Question Number : 35 Question Id : 54947026639 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The year next to 1991 will have the same calendar as that of the year 1991.

Options :

1992
1. %

1995
2. %

1996

3. %



1997

Question Number : 36 Question Id : 54947026640 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A disjunctive proposition is a type of
Options :
Conditional proposition

l.¥

Unconditional proposition

2. %

Categorical proposition
3. %

Imperative proposition
4.%

Question Number : 37 Question Id : 54947026641 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Honesty is the best policy’ because



Options :

God rewards those who follow this maxim

1%
It leads to recognition in the society
2. %
It facilitates cohesiveness in society
3. ¢
It leads to material prosperity and spiritual awakening
4. %

Question Number : 38 Question Id : 54947026642 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered L. II. III. and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

Some tables are TVs.

Some TVs are radios.
Conclusions:

I. Some tables are radios.

IT. Some radios are tables.

ITI. All radios are TVs.

IV. All TVs are tables.

Options :

Only I and III follow

Only IT and IV follow



All follow

Nomne follows
4. W

Question Number : 39 Question Id : 54947026643 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements followed by four conclusions numbered I II, III, and
IV. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts and then decide which of the given conclusions
logically follow from the given statements.
Statements:

All branches are flowers

All flowers are trees.
Conclusions:

I. All branches are trees.

IT. All trees are branches.

ITI. All flowers are branches.

IV. Some trees are branches.

Options :

Only I and I'V follow
1.v

Only II and ITI follow



All follow

3. %

None follows

Question Number : 40 Question Id : 54947026644 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are voluntary provisions in the 73rd Constitutional
Amendment Act (1992)?
L Minimum age of 21 for contesting elections to Panchayats

IT. Indirect elections to the post of Chairperson Panchayats at the
intermediate and district levels.

I1I. Representation of Members of Parliament and State Legislature on
Panchayati Raj institutions

IV. Reservation of seats for backward classes.

Select the correct answer from the code given below.

Options :

LII and IV

1. %



II. IIT. and IV

2. %

L. II. and IIT
3, %

I and IV
4.9

Question Number : 41 Question Id : 54947026645 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement ‘some men are honest” is false, which among the following
statements will be true? Choose the correct code given below.

(1) All men are honest.
(11) No men are honest.
(111) Some men are not honest.

(1v) All men are dishonest.
Options :

(1). (i1) and (ii1)
1. ¢



(i1), (ii1) and (1v)

2. %

(1). (111) and (1v)
3. %

(1), (1) and (1v)
4. %

Question Number : 42 Question Id : 54947026646 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two premises.
Premises:
(1) All saints are religious. (major)
(11) Some honest persons are saints. (1inor)

Four conclusions are drawn from those two premises in four codes. Select the code
that states the conclusion validly drawn.
Options :

All saints are honest.



Some saints are honest.

2. %
Some honest persons are religious.
3.
All religious persons are honest.
4. %
Is Section Default? : null

Question Id : 54947026647 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
Study the pie chart given below and answer questions 43, 44 and 45. It gives the breakup of
expenses incurred in publishing a book.

Transport,
10%

Binding, 20%

Paper cost,
25%

Royalty, 15%

Promotion,

Printing, 20%

Sub questions

Question Number : 43 Question Id : 54947026648 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



If the cost price of the book i1s Rs.150, then what is the combined printing and binding
cost for a single copy of the book?

Options :

60
1.v

75
2. %

80
3. %

85
4, ®

Question Number : 44 Question Id : 54947026649 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the central angle of the sector corresponding to the expenditure incurred on
royalty?

Options :

48°



2.

60°
3. %

727
4. %

Question Number : 45 Question Id : 54947026650 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the difference between promotion and printing cost in rupees if we assume
that total cost is Rs.200

Options :

10
1. %

20
2. ¢

30
3. %

40



Is Section Default? : null

Question Id : 54947026651 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)

Note:

Study the following table carefully and answer questions 46—49. It consists of data on the
number of candidates who appeared from five schools in the board exams over 2004-2008.

Schools
Year A B & D E
2004 650 760 820 800 780
2005 700 740 860 780 740
2006 800 820 940 750 730
2007 750 880 920 840 790
2008 850 840 900 860 770

Sub questions

Question Number : 46 Question Id : 54947026652 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the average number of students who appeared from School B for all the
years?



Options :

676

1. %

787
2. %

208
3.

818
4. %

Question Number : 47 Question Id : 54947026653 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of students who appeared in 2006 from School A is what percent of the
total number of students who appeared from School A for all the years together?

Options :

25.25



22.45

Question Number : 48 Question Id : 54947026654 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio between the total numbers of students who appeared in 2004 and
2005 from Schools C and D. respectively?

Options :

34:79
1. ¥

79 : 84
2. %

34 : 89
3. %

89 : 84
4, %

Question Number : 49 Question Id : 54947026655 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the average number of students who appeared from the given schools in
20077

Options :
325
1. %
836
2.9
345
3. %
863
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947026656 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of connect intelligence is derived from

Options :

Virtual reality



Fuzzy logic

2. %

Bluetooth technology
3. %

Value-added networks
4.

Question Number : 51 Question Id : 54947026657 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Programs designed to perform specific tasks are known as

Options :

System software
1. %

Application software
2.¢

Utility programs



Operating system

Question Number : 52 Question Id : 54947026658 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a network device?

Options :
Router
1. ®
Switch
2. %
Hub
3, %
CPU
4. ¢

Question Number : 53 Question Id : 54947026659 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a search engine?

Options :



Macromedia Flash

1. ®
Google
2.
Netscape
3. %
Librarians’ Index to the Internet
4, ®

Question Number : 54 Question Id : 54947026660 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

FTP stands for
Options :

Full Text Processing

File Transfer Program



File Transfer Process

File Transfer Protocol
4.

Question Number : 55 Question Id : 54947026661 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Wired Ethernet is basically

Options :
ADSL
1. #
ISDN
2.9
Broadband
3. %

The Internet

Question Number : 56 Question Id : 54947026662 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eklavya Technology channel, started in 2003, 1s a distant-learning joint initiative
between

Options :

IIT and IGNOU

1.

IIIT and IGNOU
2. %

UGC and AICTE
3, %

IIT and AICTE
4, %

Question Number : 57 Question Id : 54947026663 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following gas affects human health by reducing blood’s ability to cairy

oxygen to different parts of the body?

Options :



Carbon monoxide

1. v

Sulphur dioxide
2. %

Carbon dioxide
3 %

Nitrous dioxide
4, %

Question Number : 58 Question Id : 54947026664 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acid rain 1s formed by the
Options :
Combination of chemical air pollutants with atmospheric water droplets

1.¢

Mixing of acid with rain



Release of industrial pollutants in the atmosphere

No answer

Question Number : 59 Question Id : 54947026665 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Best extinguisher for inflammable materials is

Options :
Water
1. #
SOz
2. %
CO-
3.¢
CO
4. %

Question Number : 60 Question Id : 54947026666 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Nuclear fusion reactions happens spontaneously in
Options :

The core of the earth

1. %
The commercial nuclear reactor
2. %
The atmosphere of the sun
3.¢
The eruption of a volcano
4.%

Question Number : 61 Question Id : 54947026667 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The tallest trees in the world are found in the
Options :

Equatorial region
1.¢



Temperate region

2. %

Monsoon region
3. %

Mediterranean region
4. %

Question Number : 62 Question Id : 54947026668 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following element is used in the making of solar cells?

Options :
Platinum
1. %
Carbon
2. %
Silicon

3.¢¥



Silver

Question Number : 63 Question Id : 54947026669 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Organic food is supposed to be better for human health as

Options :
It is raised on special chemicals
1. ®
It is more expensive
2. %
It 1s grown without the use of artificial fertilizers and pesticides
3.

No answer

Question Number : 64 Question Id : 54947026670 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Ministry of Human Resource Development was created in the year

Options :



1972

1. %

1980
2. %

1985
3.¢

1991
4. %

Question Number : 65 Question Id : 54947026671 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following agency or institution proposed introduction of India
Education Index (IEI) for ranking institutes based on academic, research,
performance, and other parameters?

Options :

AICTE

NAAC



uGcC

IIT-Dellu

Question Number : 66 Question Id : 54947026672 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India. that 1s Bharat. shall be a union of states. The states and the territories. thereof.
shall be as specified in the

Options :

First Schedule
1. ¢

Second Schedule
2. %

Third Schedule
3, %

No answer

Question Number : 67 Question Id : 54947026673 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How do Directive Principles of State Policy differ from Fundamental Rights?
Options :

The former are meant for UTs. whereas the latter are for states.

], %
The former are not enforceable. whereas the latter are enforceable.
2.¢
The former are not a part of the constitution, whereas the latter are the part of
the constitution.
3 %
No answer
4.

Question Number : 68 Question Id : 54947026674 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum strength of Lok Sabha and Rajva Sabha. respectively. 1s

Options :

552 and 250



537 and 275

2. %

525 and 238
3 %

545 and 250
4.«

Question Number : 69 Question Id : 54947026675 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which subject was transferred from state list to Concurrent List by the 42nd
amendment of the constitution?

Options :

Agriculture
1 ®

Education
2. ¥

Irrigation

3. %



Local self-government

Question Number : 70 Question Id : 54947026676 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s the highest Law Officer of a state?

Options :

Attorney General
1. %

Advocate General
2. ¢

Solicitor General
3. %

Secretary General
4. %

Psychology

Section Id : 549470375
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Question Number : 71 Question Id : 54947026677 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bhagavad Gita emphasises the importance of
Options :
Emotional intelligence
1.¢

Visuo Spacial Intelligence
2. %

Naturalistic mtelligence
3. %

Spacial Intelligence

Question Number : 72 Question Id : 54947026678 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not the principal aspect of Sufi psychology?
Options :
Self

1. %



mind

Heart

3. %

Soul

Question Number : 73 Question Id : 54947026679 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which research has the purpose to focus on ‘how” and “what” question?
Options :

Homothetic research

Basic research
2. %

L Descriptive research

Existential Research

Question Number : 74 Question Id : 54947026680 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Sentence “Blue Jeans Wear false smiles has correct — but incorrect
Options :
Morphemes : Phonemes

Phonemes : Morphemes

2.
Semantics ; Syntax
3. %
. Syntax : Semantics
4.9

Question Number : 75 Question Id : 54947026681 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A hypothesis that specifies those values that are researcher believes to hold true
are
Options :

Alternative hypothesis
1.¢

Null Hypothesis

Conceptual hypothesis
3. %



Case Study

Question Number : 76 Question Id : 54947026682 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a Quasi-experimental Design?

Options :
Panel design

Ex-post facto study
2.¥

Time series designs
3. %

) Randomised Block design
4,

Question Number : 77 Question Id : 54947026683 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most frequently used method in Psychology to explore cause and effect
relationship between variables as
Options :

Correlational Method
1. %



Experimental Method
2.¢

Natural observation method

Participant Observer Method

Question Number : 78 Question Id : 54947026684 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a part of heuristic strategy?
Options :
Random search

Means and Analysis

Planning strategy
3. %

Back ward searching

Question Number : 79 Question Id : 54947026685 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Co-efficient of stability in reliability is determined by

Options :



Split — half method

) Kudev-Richard Son Formula

Test-Retest Method
3.

Parallel form Method

4. %

Question Number : 80 Question Id : 54947026686 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not a Neuro-Psychological test?
Options :
Bender Visual Motor Gestalt (BVMG)

1. ®
, » Hlastead — Reitan Neuropsychological Test Battery (HRNB)

s Autism Spectum Test (AST)

Ammons Quick Test (AQT)

4, %

Question Number : 81 Question Id : 54947026687 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



External validity deals with

Options :

Replace ability

Generalization

Stability

3. %

Objectivity

Question Number : 82 Question Id : 54947026688 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was the Maslach — Burnout inventory (MBI) developed?

Options :
% 19905

- 1980s

1920s

3. %

1950s

4, %



Question Number : 83 Question Id : 54947026689 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was department of psychiatry established in Armed Force Medical College?
Options :

v 1970

L« 1960

1980

3. %

1940

Question Number : 84 Question Id : 54947026690 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who pioneered the concept of mternal consistency?
Options :
DG Partuson

1. =

David Campbell

2. %

Fredric Kuder
3.9

o % Raymond Cattell



Question Number : 85 Question Id : 54947026691 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The decrease in volume / Weight of brain in old age is linked to shrinking of

Options :

| » Nerve Cell

, » Grey Matter

Cerebral Cortex

Hypothalamus
4. %

Question Number : 86 Question Id : 54947026692 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What kind of muscle is present in Heart?
Options :
Smooth muscle

Cardiac muscle

Skeletal Muscle



Thin Muscle

Question Number : 87 Question Id : 54947026693 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Treisman and Gelade (1980) proposed which theory of attention?
Options :

Feature Integrating Theory
1. ¥

Limited Capacity Theory

Early selection Theory
3. %

Filter Theory

Question Number : 88 Question Id : 54947026694 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Colour blindness is related to
Options :
Rods

1. =

Cones
2.9



_ Brightness
3, % =

. w3 i .
L% Saturation

Question Number : 89 Question Id : 54947026695 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

S =K logIis formula for a low of perception given on
Options :
- Fechner

Steven Power
2. ®

Signuand Freud
3. %

Thustone L.L

Question Number : 90 Question Id : 54947026696 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

By whom was “Trial and error Theory” formulated?

Options :
Thorndike
1. ¢



Guthrie

Hull

3. %

, » Kohler

Question Number : 91 Question Id : 54947026697 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Partial remnforcement is considered better than contimuous remforcement because
Options :

The learning occurs rapidly
1. ®

The learning occurs slowly
2. %

The extinction occurs rapidly

. The extinction occurs slowly
4, %

Question Number : 92 Question Id : 54947026698 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which type of problem may be solved successfully by the application of an
algorithm?
Options :

Well-defined problems

[1l-defined problems

2. ®

Both 1 and 2
3, %

Neither 1 nor 2

Question Number : 93 Question Id : 54947026699 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following lists corresponds to the Five — Factor theory of personality?
Options :

Introversion, Neuroticism, Sociability, Openness and Psychotism

. Openness, Introversion. Practicability, Punctuality and Conscientiousness
2.

Neurotism. Extraversion. Consciousness. Agreeableness and Openness



, Extraversion, Emotionality. Impulsivity. Neuroticism and Agreeableness

Question Number : 94 Question Id : 54947026700 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following is known as the ‘Rounder of Field Theory’?
Options :
Kurt Lewin
1.¢

, % Carl Rogers

Abraham Maslow

Jean Piaget

Question Number : 95 Question Id : 54947026701 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who 1s known as the father of peace psychology?
Options :

William James

Michel Wessels



James Russell

Christie

Question Number : 96 Question Id : 54947026702 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the meaning of “Nirvana’ as per Buddhist Philosophy?

Options :

Transcendenting to higher level of consciousness

Total cessation of dissatisfaction and suffering

3 % To have health and virtuous life

Gaining Knowledge or Wisdom

Question Number : 97 Question Id : 54947026703 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many planes of consciousness are described in Sufism?
Options :

1. # 8



Question Number : 98 Question Id : 54947026704 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the highest state in human consciousness?
Options :

Self efficacy

1. %

Self understanding
2. %

Self Actualization
3. %

4 Truth or bliss or Pure Consciousness

Question Number : 99 Question Id : 54947026705 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who said “Variable is a thing that is changeable?



Options :
% Kerlinger

D Amato

2. %

Webster
3.9

, w Garrett

Question Number : 100 Question Id : 54947026706 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Maintaining and improving your own professional expertise through life long
education and learning is known as
Options :

. Confidentiality
1.

) Openness

Competence
3.¢¥

, Carefulness



Question Number : 101 Question Id : 54947026707 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Naturalistic observation is the major method of study used by
Options :

Psycholo analyst, ethologist, Anthropologist and Gestalt Psychologist

Psycho analysist and Gestalt Psychologist

ethologists. Anthropologist and gestalt psychologist
3.¢

, Psychoanalysis. Anthropologist and Gestalt Psychologist

Question Number : 102 Question Id : 54947026708 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Term Experimental Designs are used by
Options :

Medical and Social Science
Engineering

, » Industrial



. Computer Science
4, %

Question Number : 103 Question Id : 54947026709 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a quasi-experimental design?
Options :

Panel Design

Expost facto study
2.

Tume series design

Randamized block design

Question Number : 104 Question Id : 54947026710 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is the non-parametric alternative to one-way ANOVA?

Options :

Friedman test
1. %

Kruskal-wallis H test
2.9



Maun-Whitney U test

Chi-Squire test
4. %

Question Number : 105 Question Id : 54947026711 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rorschach Ink blot test, Thematic Apperception Test (TAT)and MMPI are used to
measure
Options :

Intelligence
Attitude

Personality

Achievement

Question Number : 106 Question Id : 54947026712 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Principle component method of factor analysis was developed by

Options :



Thurstone

Cattell

Hoteling
3. %

L Guilford

Question Number : 107 Question Id : 54947026713 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a study is free of confounding it is said to have
Options :
External Validity

Internal validity
, » lntegrity

Reproducibility

Question Number : 108 Question Id : 54947026714 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following tests does not measure aptitude?
Options :
GATB
TAT

FACT

DAT

Question Number : 109 Question Id : 54947026715 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the Psychological assessment helps to measure cognitive functioning?
Options :

Neuropsychological test

Intelligence and achievement test

Personality tests

Clinical observation



Question Number : 110 Question Id : 54947026716 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which parts of brain the feeling of hunger and full are felt?
Options :

- Hypothalamus, Cerebral Cortex

g Lateral Hypothalamus, Ventromedical hypothalamus
2' -

Lateral Hypothalamus, cerebral contex

Cerebral cortes. Ventromedical Hypothalam
4.%

Question Number : 111 Question Id : 54947026717 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which system the body to function in a rest and digest state?
Options :

Sympathetic Nerve System

, » Peripheral Nerve System

Automatic Nerve System



, » Parasympathetic Nerve System

Question Number : 112 Question Id : 54947026718 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is known as sleep hormone?
Options :

Melatonin
1. ¥

5 % Orexin

3 % Serotonin

, » Dopamine

Question Number : 113 Question Id : 54947026719 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Trisomy of 21 chromosome causes
Options :
- Down syndrome

Huntington disease



Phenylketonuria

Jacobsen syndrome
4. %

Question Number : 114 Question Id : 54947026720 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The olfactory receptor cells are located
Options :

: . e
v Tops of the nasal passages

Auditory passages
2. %

Roof of the mouth

Lining of the outer nose.

Question Number : 115 Question Id : 54947026721 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sex Chromosomes anomly (XXY) results into the development of
Options :

. Klinefilter’s Syndrome
1. ¥



Down Syndrome

Turner’s Syndrome

Phenylketonuria

Question Number : 116 Question Id : 54947026722 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Visual cliff is a laboratory Method for testing depth perception
Options :

Infants
1. ¢

Children

Adults

Old Age people
4.%

Question Number : 117 Question Id : 54947026723 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According to Kohler learning is a
Options :

v Behavioural changes process

Trial and error process

Perceptually Organising Process

Conditioning Process

Question Number : 118 Question Id : 54947026724 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Psychologist is well known for their work of investigating

latent learning?
Options :

J.B. Watson

1. ®

Kohler

2. ®

Skinner
3 %



Tolman
4, W

Question Number : 119 Question Id : 54947026725 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Short term Memory can hold mformation up to
Options :
10-15 Seconds
1. ¥

20-35 seconds

50-60 seconds

30-45 seconds

Question Number : 120 Question Id : 54947026726 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Artistic children frequently shown
Options :
Unusual and repetitive responses of environment

- High amount of creativity



- Hyper activity

, » Low degree of emotional

Question Number : 121 Question Id : 54947026727 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Central nervous system CNS consists of.
Options :
Two hemispheres

1. ®

Brain and spinal cord

Cerebellum
3, %

Cerebrum

Question Number : 122 Question Id : 54947026728 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is one of the parts of the hindbrain?
Options :

| » hypothalamus



cerebellum

corpus callosum
3. %

r spinal cord

Question Number : 123 Question Id : 54947026729 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Following parts of the brain controls the body temperature and urge of eating?
Options :

|« hypothalamus

cerebellum
, % Pons

. hypothalamus

Question Number : 124 Question Id : 54947026730 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the father of Experimental psychology?
Options :



Wilhelm Wundt
1. v

) % G. Jung

, » Sigmund Freud

William James

Question Number : 125 Question Id : 54947026731 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The single factor theory of intelligence was given by -

Options :
Alfred Adler

1. #
Alfred Binet

David Hull

Alexander

Question Number : 126 Question Id : 54947026732 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is another term for reinforcement?
Options :
Reward
1. ¢

Condition

Response

Token

4. %

Question Number : 127 Question Id : 54947026733 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For how many seconds, short-term memory holds information?
Options :

 » 30 seconds or less

50 seconds

More than 50 seconds

None of these



Question Number : 128 Question Id : 54947026734 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indentify the drive mention in Buddhism
Options :
Pushes

1. %

Pulls

2. %

s Pleasure satisfaction
3.4

Hunger

Question Number : 129 Question Id : 54947026735 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most subjective method for measuring personality of a child
Options :
Projective method

Interview method



, «» Questionnaire method

, » Sociometry method

Question Number : 130 Question Id : 54947026736 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many personality types are mentioned by Kretschimer?
Options :
One

1. %

) @ Four

, » lhree

4 % Five

Question Number : 131 Question Id : 54947026737 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Creative thinking is not facilitated by which of the following
Options :

Originality



Tolerance of ambiguity

2.
™ Convergent thinking
, » Flexibility mn thinking

Question Number : 132 Question Id : 54947026738 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social loafing would be least likely to occur

Options :

| x na boys' club trying to raise money by holding a Saturday car wash
in a relay race where each team member's performance is timed

In a community garden where each family is expected to contribute whatever
free time they have

in a work crew building a new highway

Question Number : 133 Question Id : 54947026739 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An IQ test does NOT provide the following.



Options :
- High test Re-retest reliability

, Good predictor of Behaviour
2.

High internal consistency

Good validity

4. %

Question Number : 134 Question Id : 54947026740 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An ECG measures
Options :
| » DBrainwaves

Emotional response
2. %

3 Heart rate

Galvanic Skin Response



Question Number : 135 Question Id : 54947026741 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

16 PF test 1s based on
Options :

Eysenck’s theory
Cattell’s theory

;3 # Allport’s theory

, » Sigmund Freud theory

Question Number : 136 Question Id : 54947026742 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Albert Bandura is associated with which of the following?
Options :

% Behavioural theory

\,— Social learning theory
2. %

Cognitive Theory of Development



. Psycho-social theory of development
4.

Question Number : 137 Question Id : 54947026743 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following interventions are likely to raise human development Index?
Options :

Vocationalisation of education

Value education

2.

Health and wellness education
3.¢
L % Secular education

Question Number : 138 Question Id : 54947026744 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is peace education?
Options :

. To cultivate a culture of peace based on human rights
1.

. To teach about negotiation processes in contemporary history.



To teach about armed conflict.

To practice attitudes

Question Number : 139 Question Id : 54947026745 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not an example of a health behaviour?
Options :
Smoking
1.v g

Taking regular exercise

s Eating health food

, » Gomgto the gym

Question Number : 140 Question Id : 54947026746 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not an element of the health belief model?
Options :

| » Cure



Threat

2. ®

Expectations

.0 socio-demographic factors



